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33141211 [Shpnp ghunhqh wywpunh hufwp qC hwn 70000 210000 3
33141211 [nnnyuy ghuihqh wywpunp hwdwp < hwun 4750 38000 8 :
42991420 | Utnuwgpbiph quihsubp uu hwn 200000 200000 1
Lhlhwljwl tympkp 22737280
33631250 | Pdolwlywl uyhpun 96% < Lhwip 1200 300000 250
33631240 | @pnphtipuhnhit 0.5%  uwhpuiwht 1p 9< lhun 1400 560000 400
33631230 |Plwnwjnnf | 10% 1; 9< fhup 4000 400000 100 |
33631270 |Unwdwunyw|Yiwtws 1% 104 Q< hww 100 10000 100 |
24311530 |Mbphhnpn; 33% 1 < thuwp 600 60000 100
24311480 |Ywih whpdwluqulwwn 10q Q< huwwn 40 4000 100 N
24311600 |Pnpwppnt 30q Q< hwuwn 25 2500 100
33631260 |3nnh ngbipnipd 5% 304 G< hwwn 200 40000 200
24451140 |Upwipinbippj hwp N300 Q< hwwn 4300 21500 5
24451140 | <bipuwthnu bunwbjni 1 Q< hwn 4000 60000 5
24451140  |LEjynubun 1) Q< hwn 3000 60000 20 |
24451140 |Unip$wishnu 1 < hwwn 5100 25503 — 0 s
|
24451140 |wplguu 50% Qg hww 3000 /50000 ‘
33691153 |Fnhnuh unybuin 100g LSl 200 200000 1000 i



=
24321000 | knghu q< gpwy 10000 20000 2
24320000 |<bdwwnnpuhihu < thwp 24000 72000 3
24320000 [Shwninghwlwu ubipyuiynye EA 50 Q< [hwin 22000 44000 2 j
24320000 [Shwininghwljwt ubiplywinge 0G6 Q< thup 22000 | 44000 ‘r Y J
24320000 |Shuninghwlwt Ubplywniph unuhud Q¢ thup 125000 { 25000 | 0> |
dnt uht u 5 1
SRR Lhdn l‘uraraug] jhU Uwinphnug Q< Ug 1500 1500 T w
24321440 |Puigufuwppnt s hunp 1500 750 5 |
24321000 Unydnuwihghjwppent q< lag 5000 1500_0_ | 3_ |
\ o) y 1
33691142 Utiphihts Ywwynywn q<c gpwd 500 500 3
24411200 Ugnunuwlwl ppnt Q< thup 1500 4500 3 =
u t 0.1N10 Q<c 4000 40000 10
24321000 | LUPPM i N __‘
Uqgnip- U Mndw Shu q< 8000 24000 3
epa qnip-Enghts Mindwundulynt hdqu thwp |7 {
1500 4500 3
24321240 Luhin| phdpwytiu dwpnip Q< thup L e |
Oduhwwl 350 - 504; < hwwn 7000 350000 50
33210000 * ey
; ' h -R) 20- i
nnduit (Sanduwyabhn, 40% p) 20-24 g e ™ 500 125000 250
24321000  [wnwpwlbpny R
C -nbwlwnhy uwhwwlnigh npnaduit mbun a¢ 105000
33210000 hwywpwént wnth 7000 15
rh© (C)ntignuu hwdwlwpgh wwnhgblp npnodwl 9¢ 35000
33210000 wbuwn wnnith 3500 10
rh© (D)nbigniu hwdwYwnpgh wuwnhgbup npnadwi ac 36000
33210000 nbiuwn wnuth 2000 18
Uqumwn fEhpopuhuh pwuwhwlwu npnpdwt wnbiun q¢ 162000 |
33210000 , hwywpwdnt nnih 40500 | 7 4 4 |
Ujwuhuwdhtuwnpuwi udpbipwgh Yhubnhy 9¢ 30000 | ,
33210000 _bnwuwlyny npnodwt nbun hwywpwdnt __Wnuh 3000 | Segyn | 0
|
574 90000
33210000 Udhpwgh npnadw nbiun-hwwgwdn ___wnnith | 6000 N N S
Utopquiwljwl bnudnph npnodwis ntun q¢ 18800 | ,
33210000 ' hwwpwdni wnih 9400 | 7" | o |
Uuwwpunwwnwihtw wnpwuudbinugh Yhutinpl .
‘ , QC 16100 .
33210000 Enwuwlny npnpdw inbun hwywpudnt tnnith 2300 J» /
UUU T U i UTe O To o T U St = ]
Ynipphdtnphly Gnwuwyny npnpdw inbuwn Q< 75000
3210000 hwjwpwéni ninih 5000 | 15
; Upjwt rh nbgniu hwdwywpgh wlwhgbup 9¢ 60000
3210000 npnadw wibun upy. 3000 20 “
3211190 Upjwl fudph (i) npn2dwl ibun ¥ upy. 1200 a 20
3211190 Upjwu fudph (I1) npnadwl inbuwn ¥< und. 1200 36000_ | 30 _1
3 00 |
3211200 Upjw fudph (i) npnadwl inbutn J < _ . une 1000 | 000 [ 20 |
Q< 36000
3211200 Unjwt fudph (I11) npnodwts inbuen upy. 1200 [ 30
P
Q< 30000
211220 Upjw fudph (1IV) npnadwt inbiun und. 2000 000C DI J




= |
a< ) ‘
33211280 | Ppniglngh npnodwt wbuwn- -hwywpwént (RB-50) winith 15000 225001_ 15
Fuwddw qununwdh) wpwbudbpwgh npnpdwl ac¢ 17000 |
33210000 nbuwn-hwwpwdn50m| wnith 8500 _f_ )
| < 150000
33211120 Fyniyngh npngdwt nbun-hwiupwsni 1 wnuh 5000 000 30
i !
! : < 2500
33210000 Engihgbphnutiph npnodwt wbun hwywpwdnt N nnith 4500 2250 S
q< 14000
33210000 Gplwph npnodwl inbuwn hwywpwéni 2 tnntth 14000 0 1
Cunhwuniy U U wnb
nhwunip b ninpn phipnnipht nbuwn a¢ 40000
33210000 hwywpwdni wnuh 5000 8
Cunhwunip uyhwnwynigh nnnadwt  wnbuwn ac 8000
33210000 hwywpwdn 2 wnintth 4000 7
Cunhwunp Shpnpupup pwuwlwhwt npnadwu ac 160000
33210000 wbuwn hwywpwédnt wnnith 32000 - ) |
Dbr}hwbmp LnjGunbphth  npnodwl wbun ac 60000
33210000 hwywpwént wnith 6000 10|
f&raL[th'u $nudwinwgh npn2dwis  nbuwn ac | 15000
33210000 hwwpwdni 2 i 15000 |
. ! < 36000 ‘
33210000 [Shunjwiht tdnh  npnodwt  inbuwn wnnih 4500 B 8
(Fhnlinunpny hnpdnuh putiwlulwt npnadwl qc 174000
33210000 | | wnbuwn hwdwpwént innith 29000 6
f&anipnm[wuthh wnbuwn hwwpwént THR - q¢ 184000
33211310 120 (6x4ml) wintth 11500 16
Lwpunwwinnthhnpnglitugh npnadwl mhum qc¢ 9000
33210000 hwywpwdnt /hbnnily/ nnuh 4500 2
Linunbihuwgling hnpdnup pwtwlwlywu npnodwu
q< 84000
33210000 wbuwn-hwywpwdnt untth 42000 2
IU[UJUI'IIHILU“I {IraCTTonmans &« PIICUHIU”ld)
hwpnighsh Ujwindwdp 196 hwlwdwpdhtbph q< 160000
33210000 nnn2dwl nbuwn hwlwpwdnt wnintth 40000 1
fulwdhnhwh hwpnighsh Uhwndwip 1gG ac 160000
33210000 huijwdwpdhutibph npnadwt nbun hwywpwdni wintth 40000 A4 |
funphnuply gnuwnnupnyhtp pwlwlwlwi ¢ 47500 ‘
33210000 npn2dwu whun hwywpwsdni | wnnih 47500 o
. | : Q< 192000
33211290 Ywihnwh  npnodwl wbiun hwlwpwdni 1 inntth 12000 16
! |-
i < 80000
33211300 l'-|u1[ghnuJLh npn2dwl nbiun hwywpwdnt 1 wnnith 5000 16|
q< 30000
33211160 Ypbwwnhbpth npnadwl nbun hwdwpwdni 1 wnntth 3000 10
Ypbwwnhulyhuwg wywhynipjwt  npnzdwt nbun ac 24000
33211160 hwlwpwdnt unnuh 12000 2|
< b = [
wlwuwnpbwwnihght -0 npnadwu tnbuwn ac 10000
33210000 hwywpwédnt unnith 2500 4
<bwwwnpun A Jhpnwh Lhwwindwdp IgM qc 30000
33210000 | hwhwdwpdhttbiph npnodwi inbunh hwdwpwdnt tnnti 30000 | Jl
LGwwwnpwin B yhpniuh dwltipbiuwjht wuwnhgtuh ac 14000 |
33211320 ' npn2dwl buwnh hwywpwdnt wnntth 14000 I '
Gy Tdhpniup UHwindwdp 186 o Al T
hwhwdwpdhuutiph npndwils inbiunp Q< 120000
|
3210000 hwlwpwdnt wnintth 40000 3
<hduwiht $nupninwgh Yhubinhl bnwuwyny 4¢ 21000
3210000 npn2dwls biuwn hwywpwdnt inntth 3500 6
3210000 Uwqlbighnudh  npnadwl wibun hwuipwén 2 < tnnuh 7500 45000 6 “
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Utigh dbig qniyngp, wnjwl, uyhwnwlnigh, pH,
Yewntubiph, nbuwywpwp Uanh, Uhinphwutipp,

q<
(Binghliutinh, ninnphihtingluh U phihanipht 30000
33211110 npngdwl whunuwnphwubinh hwwpwsnt unuh 5000 6
| aC 20000
33211170 Uhquppyh npngdwl wbun hunwpwsdni2 innuh 5000 0 4
Uhqutyniph (Uhquiynyeh wgnunh) nnnadwl 9¢ 96000
33211150 wnbuwn hwjwpuwdnt nnuf 8000 12
' ' Q< 00
33211150 Uhquiyniph  npnodwis inbuwn hwywpwdnil wninith 8000 800 10
< 50000
33210000 Uhynwwagdwih  npnadwt inbuwn hwywpwdnt nnuh 50000 B 1
QL 50000
33210000 Cwpwnh wiunnpnaduwu phupuwnphiy GlucoPlus hwuwn 10000 i h
Mpniwlwnhth - pwlbwlwlwy npnodwl nbuwn ac 20000
33210000 hwywpwdn. winh 35000 o .
Mpnunwn uwbigh$hly hwlhwgbth pwuwywlwu ac 210000
33211330 npn2dwl nbiun hwywpuwdnt nnih 42000 | :
ﬂudwmnhr}wjhh fbwqmnphbnh nnnadwt nbuwn 9c 60000
33211240 hwywpwdni nnuth 6000 10
33211230 Uh$hup npnadwl nbiun hwywpwsdnt ¥ wntth 12000 120000 10
Shunnuinbpnth pwlwlwlwt nprotwl nbun a< 96000
33210000 hwywpwdnt wnith 48000 2__ ||
Snpunuyjjwquingh hwpnighsh Uywindwip 1gG q¢ 60000
33210000 hwlwdwpdhutbph npnodwl nbun hwywpwént wnth 20000 3
Snpunwjwqungh hwpnighsh Uywuindwdp IgM ac 60000
33210000 hwlwdwpdhtutbph npnpdwt nbuwn hwywpwdnt wnintth 20000 3
Sphinnunhpnuhth pwbwlwlwl  npnodwl nbun ac 64000 |
33210000 ) hwywpwdn 2 wnuh 32000 2
SPTNUGGURYRPNUN GqWinUwip 186G
hwlwdwnidhutbph pwiwlwlwl npnUdwl inbuwn qc 45000
33210000 hwywpwén: wnuh 45000 - | ! .I
Rnphnubiph Ynugbuwnpwghuwh npnoudwl nbun ac 8500
33210000 hwiwpwidnt wintth 8500 |
33211130 _|@njbuwnbiphth HDL bunwgunn nbwghin < wnith 4000 20000 5
33211130 | @njbuthbiphth LDL uunwgling nbwaqbkln H< nnith 8000 40000 5
dnibYny fupwunn hnpdnuh pwtiwulywl ac 88000
33210000 |npnpdwl nbuwn hwywpwdnt tntth 44000 2
fghpnginpnyhup Lywndwdp hwlwdwpdhuutiph Q¢ 56000
33210000  [npnonid hwwn 56000 1
33200000 | Uqnughpwd phurlyinhy < hwn 2500 125000 50
33140000  |Mudhnhw whwnhghih npnpduilt hwjupudny a< hwwn 23000 92000 4
Ppmglijnujuyn@tuwn 30 phuw/ Brucelloslide-Test q¢ hwn 300000
33211280 |/30 test/ 15000 20_]
(ipbw-UpghthtThn2 wpquiwly/Urea-arginine,
33140000 |LYO-2 broth < hwin 62000 248000 [ ;
33691139 |Ppyuwyht junwiynip 10 qc v 5310 2389500 | 450
== e
33691139 |Ypwnipntwppyh hrnwiymp 50% 110 Q< hwin 14000 840000 50 J
:’ohpphﬂmqhhﬁ nnnzdtuﬁ wnbiuwn- hwywpwéniStart 4 Qc 136000 '
33210000 FIBRINQGEN-PiREST 480 tests (Stago) hwin 34,000 4 I
Utinywuwnhb Cl Mrneu,  wbiuwn- i ;
hwwpwéniStart 4 Q< 130000
33210000 |Neoplastin Cl plus 5, 300 tests (Stago) hwuwn 26,000 5
NSSU wynndunn npndwh hwywpwéniStart 4 9¢ 110000
33210000 |PTT a 1200 tests (Stago) hwwn 22000 5




1"

@nndphl dudwhwl wbun- hwywpusniStart 4

q<

130000

33210000 [STA Thrombin 240 Tests (Stago) [t 26000 5 “
: ) Uni Calibrator 6x1ml ac 60000
33210000 |{Stago)Start 4 wlhwhquinnph hwdwp hwn 60000 1
Untnnpny htinm, 2 Umljwpruly, 12x2x1 U] Coag a¢ 18900
33210000 |Control .Start 4 w(wihqunnph hundwp hwwn 118900 1
33210000 |Uwppnn jnidnyp W inntth 12000 S0 2
33210000 |2wihihs (nidnyp RES nith 89000 178000 o
|
33210000 |PUtunpnog Hbhwnpnihn uwnnighs < hwn 81000 81000 L
Eithunpnn t$binbtu Q< hwn 121000 242000 Y
33210000 | T DD -
EltYywnpnn bwwnphnud QC hwwn 147000 294000 )
33210000 | LMY ! rh N
] \
Elbyunpnn Q< hwtn 171000 342000 2
33210000
BYwpnn Yuwihnd Q< hwwn 92000 184000 2
33210000 tl ll nnt '4 I = i
Eilthwpnn Yughnuwd Q< hwwn 93000 186000 2
|a3210000 lElnpnn. Yugh |
Lunnppnuwh bkLunpn nu nubp 1254 9< hwn 16000 32000 2
33210000 nhnwh biElnpnnh Yntinhghntibp 1254, L
q< 42030
33210000 [STA CaCL2, 24x15 W,Start 4 wlwihquunnph hwdwp hwun 42030 1 |
STA OWREN KOLLER, 24x15 uy:Start 4 q¢ 47150
33210000 |wlwihquunph hunfwp hwun 47150 ] o
FINNTIPS 2,50ML (X100) Start 4 w(iwhquunph 4¢ ’ 541900 | |
33210000 |hwdwp hwtn 241900 B
33210000 [Flacon 1850 balls Start 4 wliwhquunnph hwdwp < hwn 75850 151700 > |
\ 292
33210000 |Barrettes cuvettes 150X4 Start 4 wlwihquinnph hwdwp - hwwn 73000 920_00____ A
111 [ ~hi
coba.s c ! hihenizh a¢ . 70000 '
33211140 [nnuibh npn20wil phup hwijwpwsn huwin 35000 2
b 111 B u
cobas ¢ hihpniph 9¢ : 75000
33211140 |plmhwimip npnpdwl pEup hwfwpwbn. hwwn 25000 3 |
i obas ¢111 Iunjbunkphix
cobas ¢ njiuinkphtth ¢ 79000 )
33211130 |npnpUwl whun hwjupwsm hwtn 24000 3
cobas c111 Sphqihgkphin
Q< 20000
33210000 _ [npnguml nbuwn hufupwdnt hwn 20000 .
cobas ¢111 HDL npnodwi a¢ 40000
33210000 |nbuwn hwjwpudm hwtn 40000 1
cobas c111 LDL npnodwih 9c 63000
33210000 _|urbuwn hunjurpuidnt hwn 63000 | i
Cobas ¢c111 Uplwwunhih 4c¢ 140000 f
33210000  |npn2iwl phiup hunjwpusn: hwn 28000 | 5 #
cobas ¢111 Qnilnqu
‘ G 100000
33211120 [P0l phiup hunjwpuidnt huin 20000 5
cobas c111 | Uhquiymp —
33211150 |NPN20Wh phiup hwijwpmsn < huwn e 64000 )
cobas ¢111 Uwaho ac 1
33210000 | WihGnunpwudtipuwquh npndwlpbuwn- hwn 14000 28000 2
cobas ¢111 quuliu- ]
qC 12000
3210000 _ |quoununip] wpwhupbpuqu npngdwl phup hwtn 12000 1]
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Cobasic111 o HbA1c ¢ 194000
33210000 _|Mnn20wl phup hurjupwéne hwn 124000 -
Cobas c111 1
ippunap 9< 28000
33210000 _|Yhtwqu npnadw phiup hudwpusn hwuwn 28000 1
cobas ¢111 L2 npnpiwh phu
e Y 11000
33210000  [hunfwpuisn hwuwn 11000 1
cobas ¢111 Zhdlwgpt
ol 9< 34000
33210000 [dnudwnwqu npnzdwh phupe hwjupudnt hwwn 17000 B 2
cobas ¢111 Uuujupiwn
qC 42000
33210000 _|wdhGnupwhudbipwquh npnzdwiptun- hwn 14000 3 ’
cobas c111 _ Ulhjuiqu 9¢ 79000 n
33210000 |plnhwbnip npniwh phiup hwjuwpudm hwwn 36000 ) | ?
cobas ¢111 Ujmnidhb ¢ 6000 '
33210000 |punhwbinip npnzdwl phup hwdupwsm hwiwn 26000 | ) |
b 1 i
cobas ¢11 Cunhwbnip ac 50000 |
33210000 uuﬂnmhllmg‘ nnn20wl phup hwywpwsnt huwtn 25000 2 |
cobas c111 | CRP ac 200000
33210000 _ |puililuruts npnadwl phup hujwpwsnt hwun 100000 2 _ |
bas c111 CFAS
= : . 9< 37000
33210000 | Ywihppwwnp® phnphuhuwlwib wighqubph hudwp hwun 37000 1
i cobas c111 CFAS HbA1c G¢ 62000
33210000 _|Ywihppwinnn® phophuhwlwh wiwihqubph hudwp hwn 62000 1
11 FAS protei
cobas c1 ‘ C : protein ac 130000
33210000 |Ywihppwwninp’ phnphuhulwh wiwihqikph hwdwp hwn 130000 T
cobas c111 CFAS Lipid oc 5000 1
33210000 _|4wihpnwinnp’ phnphuhurjwi whwyhqiskph hudwn hwun 19000 | 1]
cobas ¢111 Yntunpn Yht
: qc 161000
33210000 [shU Unijnh 1 hww | 161000 1
cobas ¢111 Intiinpn) Y hte
SC 161000
33210000 sk Umpnh 2 hwn 161000 1
cobas ¢c111 | Cleaner
33210000 |00 ¢ " s huwitn 18000 G000 4
Ljwgnn hhqr‘nll hpdbwyght punyph §opwu U111 9c 18000
33210000 |wlwjhquwnph hwdwp hwwn 18000 1 '
Activator for Cobas ¢111 9x12 ml Unpwu plunkgpu q< 39000
33210000  |u Ynpuu U111 whwhqunnpikph huntwp hwun 39000 1
ISE Deproteinizer:Unpwuu c111 whwihquunph
33210000 |huwfwp *< R 9000 Gl 5
Y U111 wlw wn hwdw
pn L thqunnph L 9< 17000
33210000 |NACI 9% Diluent huwin 17000 1
' htlnjhqughing nhwqkun:Ynpuu U111 qc 41000 ]
33210000  [wGwihquinnph hwdwp huwn 41000 1
cobas c111 (Ewlghnt = — '
33210000 |Wnidkntbph hwyjwpwsne hwn 63000 7 B 5
33210000 |cobasc111 _ cobas sample cup R hwn 56000 56000 ]
Cobas e 411[Elecsys 2010 Lbluhu
"}hhhqpntulh‘[mhqnumhpnh—unq_fj)ulm pwbwluwlwh 574 88000
33210000  |npndwl inbuw-hwwpwént hwin 88000 1
Cobas e 411 Elecsys 2010 Ejkluhu e
33210000 | "tehhnpatyhwlinnunbpnb-uny$unn Yuihppunnp hwwn 29000 29000 |
Cobas e 411 Elecsys 2010 Eikluhu
33210000  |Skuninuntipnt pwlwlhwlwh npnydwh nbuwn- Vs o 82000 SRl 1
Cobas € 411 Elecsys 2010 E|Euhu qc
33210000 [Skunnunbpnt Yuithppunanp ' hwin 29000 29000 ]
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Cobas e 411 Elecsys 2010 "~ Eiklupu ]
Bnibyny fupwlnn hnpinGh pwlwlwlwh npnydw 74 58000
33210000  |wnbuwn-hwiwpwént hwn 58000 1
. |Cobas e 411 Elecsys 2010 Erkljuhu
nibynu fupwtnn hnpdnG Yughppuinng e 34000
33210000 L N hnp P hwin 34000 1
Cobas e 411 Elecsys 2010 Eikhupu
ypnpulnhl hnpdnGh pwlwlwlywh npn)tws 9« 74000
33210000  [wnbiuwn-hwiywpwént hwwn 74000 I
Cobas € 411 Elecsys 2010 Elkyupu —
q< 34000
33210000 |wpnjwywht jwihppunnp hwtn 34000 I
Cobas e 411 Elecsys 2010 Ekuhu o '
33210000 _[lunphnGhl anGwnnuinpnuhGh pwiwlwlw ¥< hwn 77000 e l
Cobas e 411 Elecsys 2010 B kjupu S
. q< 29000
33210000 _[lunphnlihy gnGwnnuipnwhbh Yuihppuinnp hwuwn 29000 1
: Cobas'e 411 Elecsys 2010 By khupu ]
Snpunwjwaqiinuh Ghwindwip G hwlwdwnshGltph q< 97000
33210000 | pwliwlwlywe npnydwh phun-hwywpuidnt hwuwn 97000 1
Cobas e 411 Elecsys 2010 Eikhupu |
33210000  [wphuhyntunpng Snpunujwqdnu IgG 34 hwuwn 75000 75000 I
Cobas e 411 Elecsys 2010 E1kluhu
33210000 _ [Snpunwjwqinuh Ghwindwip M hwlhwswpdhGhbnh < hwtn 117000 L 1
Cobas e 411 Elecsys 2010 Ekhuhu .
q< 90500
33210000 |wpkuhyninnpng Snpunwjwaqdnu igM huwn 90500 1
Cobas e 411 Elecsys 2010 Ejkljuhu
8hunindbgwindhpniup Ghwinduip G 9 142000
33210000 |hwlwiwpohGGbph Lwiwywlwb npnptwi phuwn- hwun 142000 I |
Cobas e 411 Elecsys 2010 Eltijupu o 71000 |
33210000 [ypkupyntunpn 8hinndbquindhpniu IgG hwtn 71000 ]
Cobas e 411 Elecsys 2010 EiEyuhu
8hwndbiqwindhpniup Ghuindwip M Q< 172000
33210000 |hwhwdwpdhGObph pubwlwlwd npnydwd phiutn- huwin 172000 1
Cobas e 411 Elecsys 2010 EjELuhu 9¢ 86000
33210000 [wypkuhlninnpng Shinndbiquinyppniu Ighvi huwtn 86000
Cobas e 411 Elecsys 2010 Ejtjuhu
TMpnuunwn uwbighdhy hwlwghh pwlwlwljw < 204000
33210000 _|"MN20w0 pun-hwwpwén. huin 102000 2
| "~ |Cobas e 411 Elecsys 2010 Ejtijuhu v 34000
33210000 | Mpnuinwwn uwtighdhl hwlwablh Yuhppunnnp hwtn 34000 1
Cobas e 411 Elecsys 2010 EjEjuhu ac 16000
33210000 |wquun phnopuhGh puilwlwywl npnzdwb phun- huwin 58000 2
Cobas e 411 Elecsys 2010 Ejlijupu q¢ 34000
33210000  |wqww phpnpuhGh Yuihppuinnp hwtn 34000 1
Cobas e 411 Elecsys 2010 E1EYupu ¢ 58000
33210000 _|LinuntihGuiglinn hnpanGh pwGwlwlwG npnzdwi hwwn 58000, i
Cobas e 411 ‘Elecsys 2010 EiEYuhu oz 34000
33210000 _ [LyntinkihGwgtnn hnpdnGh Ywihppuwnnp hwwn 34000 il I
Cobas e 411 [Elecsys 2010 Ejtjuhu G¢ 174000
33210000 _|Phntininpnuy hnpdnGh pwliwlwlwa npniw hwn 58000 3 _
Cobas e 411 Elecsys 2010 EjEjupu 9¢ 68000
33210000 [Phpbininpnwy hnpdnGh Yunhppuwnnp hwtn 34000 2
Cobas e 411 Elecsys 2010 EiEjupu a¢ 136000
33210000 |adwnwlilbph pwngltinh CA 125 whinhghGh hwn 136000 1
Cobas e 411 Elecsys 2010 Ejkjuhu ac 29000 o
33210000 |[dwipwllbiph pwnglkinh CA 125 whwnhgkG hwwn 29000 1
Cobas e 411 Elecsys 2010 FikYupu ]
Fwlwphpnhn whpnpuhnwah hwywdwpdhGGtph ac 206000 |
pwlwlywlywd npnadwd pGun-hwdwpwént '
3210000 huwtn 103000 2|
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Cobas e 411 Elecsys 2010 Fikluhu ]
3whwphnnhn wpnpupnwah hwlwiwpshGatph 9< 29000
33210000 [Uwihppuinnp hwin 29000 1
Cobas e 411 Elecsys 2010 Elbyuhu ac 0300
33210000 ShnkngunpntihGh iwudunip hulwswpshattph hwtn 103000|  '30%° o
Cobas e 411 Elecsys 2010 Eikuhu a¢ 29000
33210000 _ [ShnknginpnthGh Wuundwidp hwlwidwndhGbnh hwun 29000 1
Cobas e 411 Elecsys 2010 EiEyupu 4¢ S0
33210000 _|@hnopuhth pwlwlwlwG npnowd ptiuwn- hwwn 63000| I S T
Cobas e 411 Elecsys 2010 EyEyupu ac I ‘.
33210000 _|/@hnopuhlh Ywjhppunnp hwwn 34000 NS
Cobasie 411 Elecsys 2010 EiEluhu ac 27000
33210000 |wphuhlnlwnpng nihdbpuy hwn 27000 1
Cobas|e 411 [Elecsys 2010 Elkupu ac 50000
33210000  |wphuplnbwnpng nipnigpwiht dwpllip huwin 50000 i
Cobas e 411 Elecsys 2010 ElEluhu ac 1500
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